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oK # X A HEH 5 £ it

001 T & B 515 531 638 1,169
002 T x BT 710 781 799 1,580
03| + #H H fr 355 332 316 648
004 | = % i) 953 1,128 1,062 2,190
005 | X R i) 708 782 853 1,635
006 | £ & F M 1,303 1,489 1,428 2,917
007 | #& B i) 162 226 194 420
008 | 5 it i) 776 851 919 1,770
009 | K & i) 568 126 731 1,457
010 | & H i) 1,200 1,489 1,553 3,042
011 | € ®W F M 739 843 874 1,717
012 | o # i) 898 1,086 1,249 2,335
013 | 3h H i) 556 685 746 1,431
014 | & R i) 846 1,001 1,023 2,024
015 | & BX i) 112 132 155 287
061 XRHE—TH 29 28 19 47
062 | X B —TH 224 198 194 392
063 | XFEHET=TBH 12 29 38 67
064 | XFET M TH 93 82 114 196
0711 | X% AE—TH 34 30 35 65
072 | £HBABR_-TH 227 219 192 411

A

a-F| # X £ ks 3 = g
081 mE — TBH 0 0 0 0
082 | M BT — T B 27 738 90 828
083 mE =TBH 151 143 155 298
091 il % BT — T B 75 74 93 167
092 W B Z TH 82 231 376 607
101 P A E—TEH 103 104 92 196
111 LT EHE—TEH 106 126 114 240
112 +TESHEZ-TH 81 64 63 127
113 +LTESHE=TH 95 98 105 203
114 LTS HEMTH 154 146 162 308
115 LTESHEATH 142 119 152 271
116 LT EHEATEH 139 119 134 253
117 LTESHEETH 123 131 156 287
118 LTS HE/NTH 168 158 151 309
121 EBFH—TH 70 64 79 143
122 EBFHM_-TH 52 67 67 134
123 EBRFEH=TEH 65 61 75 136
124 EBFHMUTH 65 68 53 121
125 EBFHMATH 85 96 98 194
126 EBFHATH 142 124 123 247
127 EBFHMETH 136 92 145 237

& it 13,081 15,491 15,615 31,106




